Order of Operations (A)

Name: Date:

Simplify each expression using the correct order of operations.

(—5)2 —4x(6+((-7)+8) %3 ((-9)+ 7)3 X (=5)+((4—(-6))x2)
(22 % (6—9)) + 3+ (—4) (=7 +7) + (=9)" x (8 = (=3)°)
(=7)+9=7)*x (5= (=5))° (=3)x (10 + (=7)))" + 3 — (=9)*
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Order of Operations (A) Answers

Name:

Date:

Simplify each expression using the correct order of operations.

(—=5)* —4x (6 + ((—7) + 8)) X 3

= (=57 —4x(6+1)x3
=(—5"—4x6X%X3
=25-4X6x%3
=25-24x3

=25-72

= —47

(22x(6-9)) +3+ (4"
= (22 % (-3)) + 3+ (-4
=(4x(=3)) + 3+ (-4’
=(=12) = 3 + (—4)
=(-12) =3+ ?

= (—4) + 16
=12

((—7) +9— 7)2 X (5 = (—5))°

=(2=7) x5+ (=5
(-5 x(5+ (—5))2

(—5)" x (-1)*

=25x(—1)
=25x1
=25

((=9)+7) % (=5) + (4= (=6) x2)
= (2’ x(=9) + (4= (=0) x2)

= (-2)’ x (=5) + (10x 2)

= (—2)’ x (=5) = 20

= (——8)>< (=5)+20

=40 =20

=2

(=7 +7) = (=9 x (8- (=3)")
=O+(—9)2x<8—ﬁ>
=0+(=9"x(8-9)

=0+ (-9)" x (1)

=0+ 81x(-1)

=0Xx(-1)

=0

((=3)x (10 + (—7)))2 +3—(-9)°

- ((—3) X 3)2 3 (=9)°
=(=9)" + 3 — (=9)°

=81+ 3—(=9)°
=81+3-81
=27-81
=54
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Order of Operations (B)

Name: Date:

Simplify each expression using the correct order of operations.

((-8) X 7) = ((—z)2 +5— 10)3 B+(E=3))X((-4)—6)+ ((—5)2 +(=6))
((-10)* = 10%) + (5 + (=3)) x 3 B+ (=7) = 6) = (4% (=9)) + (-6)")
((—8) x (—=5)) + ((—z)3 —(-3)+ 7)3 (=9) = (=5)" + (=7) X (((~8) + 8) X 6)
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Order of Operations (B) Answers

Name:

Date:

Simplify each expression using the correct order of operations.

((—8) % 7) (2" +5- 10)3

= (—56) =+ (ﬁ +5— 10)3
=(-56)+ (4+5— 10)3

= (=56) + (9= 10)’

= (=56) + (-1)’

= (=56) =~ (-1)
= 56

(=10 =10%) = 5+ (=3)) x 3
= (100 — 10?) = (5 + (=3)) X 3
= (100 — 100) =+ (5 + (=3)) X 3

=0+(5+(—3))><3
=0:2x3

=0X3
=0

(=8) % (=9)) + (=27 = (=3 +7)’

~—

40 + ((—2)3 —(=3)+ 7)3

40 = <(—8) —(=3)+ 7)3
3

0+ ((—5) + 7)

(3+(=3)x (=9 - 6) = ((=5)" + (-6))
=0x ((—4) - 6) +((=5)* +(~6))
=0 x (=10) = (ﬂ + (—6))

=0x(—10) = (25 + (—6))

=0x(—10)=19
=0-+19
=0

e

8+ (=7) — 6) + ((@x(=9) + (-6)°)
=(1-6) = (4 x(-9) = (-6)")
=(=5)+((4x (=9) = (-6)°)

= (=5) + ((-36) = (=6)°)

= (=5) = ((—36) - 36)

=(=5)+ (=D
=5

(=9) — (—=5)* + (=7) x (((—8)_—8) % 6)
= (=9) = (=5)" + (=7) x (1) x 6)
=(=9) = (=5)" + (=7) x (~6)

=(=9) — 254 (=7) X (=6)

=(—9) — 25+ 42

= (—34) + 42
=38

Math-Drills.com




Order of Operations (C)

Name: Date:

Simplify each expression using the correct order of operations.

@ —7+(=9) +(2x8) ((=2) = 22) X ((=3) + (=5)) = ((-9) +6)
(10 + ((=7) — (—8))) X (=10) + 8% + (=5) ((=9) +9)x3)=(8—5) =4
(6 + (=5)) = (8 = 7) X (=3) + (=9) ((=6) x (10 =2 + (=8))°) + 82
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Order of Operations (C) Answers

Name:

Date:

Simplify each expression using the correct order of operations.

(£ =7+ (-9)) +(2x8)

=(16-7+(=9) + (2x8)

=(9+(—9))3+(2><8)
=0°+(2x8)
=0°+16

=0=16

=0

(10+ ((=7) = (=8))) x (10) + 82 + (=5)
= (10 + 1) X (—10) + 8% + (=5)

=10 X (—=10) + 8 + (-5)

=10 % (—10) + 64 + (=5)

= (—100) + 64 + (=5)
=(=36) + (=5)
=—41

(6+(=5) = (8 =7 x (=3)+ (-9’
=1+ (8=7)x(=3)+(-9)*
=1+1%(=3)+(-9)
=1+1x(=3)+ 81—
=1x(-3)+81

=(=3)+81
=78

(=2 = 22) X ((=3) + (=5)) = (-9) +6)
= ((=2) = 4) X ((=3) + (=5)) = ((-9) +6)
= (=6) X ((=3) + (=5)) = ((-9) +6)

= (=6) x (~8) = ((=9) +6)

= (=6) X (-8) + (-3)

=48 + (-3)

=-16

(((—9) + 9) % 3) ~(8-5) > =4

=(0x3)=(8-5) 4

=0+ (8-5) +4
=0+3>+4
—0:27+4

=0=<4

=0

((—6) x (10 — 2 + (—8))3) - g2
= ((—6) % (8 + (—8))3) - g2

= ((—6) x 0°) + 82

- ((—6) X 0) - g2

=08

=064
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Order of Operations (D)

Name: Date:

Simplify each expression using the correct order of operations.

(=) + 4 x (=7)") + (-8) = 22 2% (((=8) = (=7))" + 3 +(-2))")
(6P x (=5 +9 - 4))2 .3 ((=10) + 9) X (—2))” + (5 = 3) X (=9)
(7+(=3)") x (((=10) — 10) + (=2)*) (=2)" = (=3) X ((7 + (=7)) + ((~6) X 3))
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Order of Operations (D) Answers

Name: Date:

Simplify each expression using the correct order of operations.

~

(=9 +4)x(=7") = (-8) - 22 2% (((—8) — (7)) =G+ (—2))3)
2\ .
0% ﬂ> -2 —2x ((—1)2 - (3 + (—2))3)

Il
—

=(0x49) + (-8) — 22
=0+ (—8)—2% =2><((—1)2+13>
=0+ (-8)—4 =2x(1+1)
=04 =2x(L=1)
=—4 =2x1
=2
<(—6)2 X ((—5) +9— 4))2 +3 (((—10) + 9) x (—2))3 +(5-3)x(=9)
= (67 x (4=9) =3 = (D x(-2) +E-3x(-9)
= (=6’ x0) +3 =2+ (5-3)x(-9)
2 =2°+2x(-9)
=(36x0) +3 8 2% (=9)
=0*=3
- =4x(-9)
j% — _36
(7+(=3)") x (((=10) - 10) = (-2)°) (-2 = (=3)x ((7+ (7)) + (-6) x 3))
= (7 + (—27)) x (((=10) = 10) + (=2)*) = (=2)° — (=3) X (o + ((—6) X 3))
= (—20) X (((—10) . 10) - (—2)2) = (=2)* = (=3) x (o - (—18))
= (—20) X ((—20) + ﬂ) = (=2’ = (=3)x0
= (-20) x ((=20) = 4) =4-(=3)x0
= (=20) X (=5) =4-0
=100 =4
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Order of Operations (E)

Name: Date:

Simplify each expression using the correct order of operations.

(8+(=8)+7)°) X ((~10) = (=2) + 5) ((=9) + (—4) = (~10)) X (=5) = 2 — (=3)))’
(9+ (7 + (-8)") x (=3) — 42 (3 x @2+ (-2)) = (=3) -8
(23 X (—6) + 3 — (—4)))" = (~8) (=2 x9) + (32 + (=8) — (=5))
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Order of Operations (E) Answers

Name:

Date:

Simplify each expression using the correct order of operations.

8 - ((—8) + 7)3) X ((=10) — (—=2) + 5)

/-~

(8+ (1) x(-10) = (-2)+3)
(3+ 1>)><(( 10) — (=2) + 5)
(=8)x ((=10) = (-2) +5)

= (=8) x ((—8) + s)

=(=8)x(=3)
=24

<9+<7+(—8)>2)><(—3)—42
:(9+ﬂ>x(—3)—42
=(0=1)x(=3)-4
=9x(-3) -4
=9x(-3)—16

=(-27)—-16
= —43

(23 % ((—6) +3— (—4)))2 + (=8)
- (23 X ((—3) . (—4)))2 =+ (=8)
=(2*x1)" = (-8)

=(8x1) = (-8)
=82+ (-8)
=64 + (—8)

= -8

((=9) + (=4) = (-10)) x (=5) = 2 = (=3’
=((-13) = (-10)) x ((=5) = @ = (-3)))’

= (=3) x ((—5) - (z - (—3)))3

= (=3)x ((—5) - 5)3

=(=3)x (-1’

=(=3)x(=D
=3

(33 x (2 + (—2)))2 +(=3)—8

=(3_3><0)2+(—3)—8

= (27x0)" +(-3) -8
=0+ (-3)-38
=0+(-3)—8
=0-38

-8

(ﬁ X 9) + (3% +(-8) — (=5))
=(4x9) + (3 +(-8) = (-5))
=36+ (3> + (-8) — (-5))
=36+ (9 +(=8) — (—5))

36 = (1 (- 5))
366
6
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Order of Operations (F)

Name: Date:

Simplify each expression using the correct order of operations.

10% + ((5+ (=6) = (=3)) X ((=9) — (-8))) 9+3)%((=3) +(=6)° = (=7) - 7)
(3= (=10)" +(=3)) x (~6) = 6)" ((—8) x (-10)) + (8 = (=2) + (-9) — 3?)
(9 +(=8))" x ((=6)" + (4 - 5)) (=3)x(7=2+4(=2)") = ((=5) +4)
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Order of Operations (F) Answers

Name: Date:

Simplify each expression using the correct order of operations.

102 + (5 + (=6) = (=3)) X ((=9) — (-8))) (9+3)x ((=3)+(=6)" = (-7)=7)

=10+ (1) = (=3) x (=9 - (-8)) =3x((3)+ (0" - (=7 -7)
=102+ (2x((=9) - (-9))) =3x((=3)+36 = (-=7) =7
=10% = (2 x (=1)) =3x(33-(-7)-7)
=10% + (-2) =3x(40-7)
=100 + (-2) =3x33
= —50 =99
(3= (=10 +(=3)) x (=6) = 6)° ((=8)x (<10)) + (8 = (=2) + (-9) - 3?)
= (3= 100 + (—3)) X ((—6) + 6)° =80+ (8 —(-2)+(-9) - 3?)
= ((=97) + (-3)) x ((~6) = 6) =80+ (8- (-2) +(-9) - 9)
= (—=100) x ((—6) s 6)2 =80+ (10 +(=9) - 9)
= (=100) X (1) =80+ (1-9)
=80 =+ (=8)
= (—100) x 1
=—-10
=—100
3 2
(04 C8) x (67 = @) (=3)x(7=2+(=2") = (=5) +4)

=(=3)X(5+4)+ (-5 +4)

=1 —6)" + (-
Px (-6 +(-1) =(=3)x9+((=5) +4)

=13 x <36 - (—1))

=(-3)x9+(-1)
=13 x (-36) =(=27) = (-1
=1X (—36) = 27—
= -36
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Order of Operations (G)

Name: Date:

Simplify each expression using the correct order of operations.

(=5 X (3 =4 + ((=3) + (-2)) B+ ((=5)+(=3))* x (2 — (=4) — 4)
(6 + (7 +(-10)) X (2 —4) x 3? 8+ ((=2) — (—6)) X (9 + (=9)) X (—4)°
((—8) + 8)° X (—4) = ((—9) — 9) X (—3) ((6 —10) +2) X (—4) +9 — 8
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Order of Operations (G) Answers

Name:

Date:

Simplify each expression using the correct order of operations.

(=5 X (3=4)" = ((=3) +(~2))
= (=5 x (1)’ = ((=3) + (-2))
=(=5)"x(-1)*  (-5)
=25x(—1)" = (=5)
=25%X(—1)+(-5)

= (=25) = (=5)
=5

(6 - (7 + (—10))) X (2 — 4) x 32

(e

=(—-2)x(2—4) x 3?
=(-2)x(-2)x 3*

=(-2)x (=2)X9

=4x9

=36

3))><(2—4)><32

((=8) +8) % (=4) + (=) = 9) x (=3)
=03 x (—4) = ((=9) = 9) x (-3)

= 0% X (—4) = (—18) X (=3)
=0x(—4)+(-18)x(=3)

=0+ (—-18)x(=3)

=0x(-3)

=0

(8+(=5+ (—3)))2 X (2~ (—4) - 4)
= (8 + (—8))2 X (2 — (—4) — 4)

= (=1)* x (2 —(=4) — 4)

=(-1)" x (6—4)

8+ ((=2) = (=6)) X (9 + (=9)) x (4"
—8+4x (9 + (—9)) x (—4)°

=8+4x0x(—4)
=8-4Xx0X16
=2x0x16

(6—=10)+2)x (—4)+9—8?
=<(—4)+2)><(—4)+9—82
=(-2)X(-4)+9-8*
=(-2)x(—4)+9 — 64
=17 — 64

= —47
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Order of Operations (H)

Name: Date:

Simplify each expression using the correct order of operations.

(=7 + 3= (=4)*) x (7 + (=6)) (=) + (=3) x (4 -2)* + (-2)°)
(62 +((=7) = (=5) +4)*) x 9 ((=3° = (=5)) x ((=8) + (5 + (-7))")
(2° - 8)3 =~ (-8) X (4+7) ((—3)2 X (3—=(=7)+ (—10))2) =7
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Order of Operations (H) Answers

Name:

Date:

Simplify each expression using the correct order of operations.

(77 + (3= ) ) x 7+ (-0
- (ﬂ - 72) X (7 + (—6))

= (49 + 7*) X (7 + (—6))

= (49 + 49) X (7 + (—6))

=1x (7 + (—6))

=1x1

=1

(62 - ((—7) —(=5)+ 4)2> X 9

= (62 =(=2)+ 4)2) X9

= (6% +2%)%x9
=(36+2%)x9
=(3624)x9
=3x9

=81

(23 —8) = ((-8) x (4+7))

=(8—8) = ((-8)x (4+7)
=0°+ ((-8)x (4+7))

=03+ ((—8) X 11)

=0° +(-88)
=0+ (—88)
=0

(=9 +(=3)x(@-2 = (-2)")
= (N x((¢=2) + (-27°)
=(-7)%x (2} = (-2)°)

= (=7) x (8 - (—2)2)

= (-7)x (8. 4)

=(=7)x2
=—-14

(=3 = (=9) x ((=8) = 5 + (=7))")
= ((=27) = (=9)) x ((=8) = (5 + (=7))")

= (—=22) x ((—8) + (5 + (—7))2)
= (-22) x ((—8) - ﬁ)

= (-22) x ((—8) - 4)
=(—22)x(-2)
= 44

((—3)2 % (3 — (=7 + (—10))2> L7

= ((—3)2 x (10 + (—10))2) +7
= ((—3)2 X 02) +7

=(9%0%)+7
=(9x0)+7
=0=7

=0
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Order of Operations (I)

Name: Date:

Simplify each expression using the correct order of operations.

((=5) = (9 + (~10))*) x 32 - 2 ((=2) = 2) % (3% + 8 — 10)°

((=6) = (=3)) X ((—4) = 6 + (=8) — (-10)) (8 =2°) = (=9) x (3 + (=2)))

(=6) + (=2))* X (4+ 5 —8) X (=7) (=2) + (=4’ x ((=3) = 7) = 10)*
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Order of Operations (I) Answers

Name: Date:

Simplify each expression using the correct order of operations.

((—5) (o4 (-10))2) «FP—2 ((-2) = 2) x (32 +8~10)’

(=5)+ (-1))x 3 -2 = (-1)x (3 +8-10)

= (-D)x(9+8-10)°

—

-~

(—5)+1)><32—2

=(=5)x3* -2 = (-1)x (17-10)’
=(—5)><9_—2 =(-)x7?

— (Ca5)—2 = (—1)x 49

_ = —49

(=6)= (—3))3 X(~4) =6+ (-8) —(-10)  (8=2) = ()X 3+ (-2

=23 ((_4) — 6+ (—8)— (_1o)> = (u)z (-9 x (3B +(-2))
=2 x((=10) + (=8) - (~10)) =02+ ((=9)x (3 + (-2))

=23 x((=18) - (-10)) =02+ ((-9)x1)

=2 x(-8) =9

=8 x (8) =0+ (=9

=—64 =0

((—6) - (—2))2 X (44 5—8) X (=7) (=2) + (—4)° x (((—3) - 7) - 10)2

=3 x(4+5-8)%(=7)

2
= (=2)+ (-4’ x ((-10)  10)
=3 x(9=8)x(=7)

= (=2) + (—4)° x (=1)°

=3*X1x(=7)

=9x1x(=7) = (=2) + (=64) x (-1)’
=9x (=7) =(—2)+(—64)x1
=—63 =(=2) + (—64)

= —66
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Order of Operations (J)

Name: Date:

Simplify each expression using the correct order of operations.

(2% (7+10-5)) + (62 +9) (2+(-8) = (=3) x (32 = (=5) = (-2))
(7-5)x3%)+2+4+(-8) (62 +(=2))x(3—=2°+7)
(5+((=6) + 7)) x ((-2) - 3?) (8 +((=10) +9)*) x ((=6) = (-8) +7)
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Order of Operations (J) Answers

Name:

Date:

Simplify each expression using the correct order of operations.

(2% (7+10-5))+(6*+9)
=(2x(17=3)) + (6" +9)
=(2x12)+(6*+9)

=24+ (6*+9)
=24+(36+9)
=244

=6

(7=5)%3%)+2+4+(-8)
=(2x3%)+2+4+(-8)
=(2x9)+2+4+(-8)
=18+2+4+(-8)

(5 - ((—6) + 7)2) x ((-2) - 3?)
=(5+1*)x((-2)-3%
=(5+1)x((-2)-3)
=5x((-2)-3?)

=5x ((—2) - 9)

=5x%x(-11)

=55

(<2+—(—8)> + (—3)) X (3% = (=5 —(-2))
= (M) X (3% = (=5)— (-2))
=2%(3* = (=5) - (-2))

=2 X (9——(—5) - (—2))

2% (14 . (—2))
2% 16

32

(62 +(-2)x(3-2°+7)
=(36=(-2))x(3-2°+7)
=(-18)x (3—-2°+7)
=(-18)x(3—-8+7)

= (~18) X ((—5) + 7)
=(-18) x 2

= —36

8 = ((—10) + 9)3) X ((—=6) — (=8) + 7)

—

(8 - Q) X ((=6) — (—=8) + 7)
=(8+ (D) X(-6) = (=8)+7)
= (=8)x ((=6) = (=8) +7)
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